

1-1-2004

## Rate of Convergence of Durrmeyer Type Baskakov-Bezier Operators for Locally Bounded Functions

VIJAY GUPTA

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

---

### Recommended Citation

GUPTA, VIJAY (2004) "Rate of Convergence of Durrmeyer Type Baskakov-Bezier Operators for Locally Bounded Functions," *Turkish Journal of Mathematics*: Vol. 28: No. 3, Article 5. Available at: <https://journals.tubitak.gov.tr/math/vol28/iss3/5>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact [academic.publications@tubitak.gov.tr](mailto:academic.publications@tubitak.gov.tr).

# Rate of Convergence of Durrmeyer Type Baskakov-Bezier Operators for Locally Bounded Functions

*Vijay Gupta*

## Abstract

In the present paper, we introduce the Durrmeyer variant of Baskakov-Bezier operators  $B_{n,\alpha}(f, x)$ , which is the modified form of Baskakov-Beta operators. Here we obtain an estimate on the rate of convergence of  $B_{n,\alpha}(f, x)$  for functions of bounded variation in terms of Chanturiya's modulus of variation. In the end we also propose an open problem for the readers.

**Key Words:** Locally Bounded Functions, Rate of Convergence, Modulus of Variation.

## 1. Introduction

Let  $I \equiv [0, \infty)$  and let  $M_{loc}(I)$  be the class of all measurable complex valued locally bounded functions on  $I$ . For  $f \in M_{loc}(I)$ , the Baskakov-Durrmeyer type operators  $B_n$  ( $n \in \mathbb{N}$ ) applied to  $f$  are defined as

$$B_n(f, x) = \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} b_{n,k}(t) f(t) dt, x \in I \quad (1)$$

where

$$p_{n,k}(x) = \binom{n+k-1}{k} \frac{x^k}{(1+x)^{n+k}} \quad , \quad b_{n,k}(t) = \frac{t^k}{B(k+1, n)(1+t)^{n+k+1}}$$

and  $B(k+1, n) = k!(n-1)/(n+k)!$ .

The operator defined by (1) were introduced by the author (see[5],[6]). Some approximation properties of these operators were studied by Gaur and Sharma [4] and Argawal and Thamer [2].

Recently Zeng and Gupta [7] estimated the rate of convergence of the discrete Baskakov-Bezier operators, which are defined by

$$P_{n,\alpha}(f, x) = \sum_{k=0}^{\infty} f\left(\frac{k}{n}\right) Q_{n,k}^{(\alpha)}(x),$$

where  $Q_{n,k}^{(\alpha)}(x) = J_{n,k}^{\alpha}(x) - J_{n,k+1}^{\alpha}(x)$ ,  $\alpha \geq 1$ ,  $\sum_{j=k}^{\infty} p_{n,j}(x) = J_{n,k}(x)$  and  $p_{n,k}(x)$  is the

Baskakov basis function. As the operator (1) are the Baskakov Durrmeyer type operators and they have many interesting properties, this motivated us to study further on such operators. For  $\alpha \geq 1$ , we now introduce the Durrmeyer variant of the Baskakov Bezier operators as

$$B_{n,\alpha}(f, x) = \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_0^{\infty} b_{n,k}(t) f(t) dt . \tag{2}$$

Obviously,  $B_{n,\alpha}(1, x) = 1$  and particularly when  $\alpha = 1$ , the operators (2) reduce to the operators (1). For further properties of  $Q_{n,k}^{(\alpha)}(x)$  and  $J_{n,k}(x)$ , we refer the readers to [7]. Clearly if  $f \in M_{loc}(I)$ , and if for every  $t > 0$ ,  $|f(t)| \leq M(1+t)^{\gamma}$  with some  $M > 0$ ,  $\gamma \geq 0$ , then  $B_{n,\alpha}(f, x)$  are well defined for  $n > \gamma$ .

In the present paper, we obtain the rate of convergence for the Durrmeyer type Baskakov-Bezier operators  $B_{n,\alpha}(f, x)$  in terms of Chanturiya's modulus of variation of the auxiliary function  $g_x$  defined by

$$g_x(t) = \begin{cases} f(t) - f(x_-) & , \quad 0 \leq t < x \\ 0 & , \quad t = x \\ f(t) - f(x_+) & , \quad x < t < \infty . \end{cases}$$

The Chanturiya's modulus of variation of  $j^{\text{th}}$  order for the function  $g$ , bounded on a finite or infinite interval  $Y$  contained in  $I$  is denoted by  $v_j(g, Y)$  and defined as the upper bound of the set of all numbers  $\sum_{k=1}^j |g(b_k) - g(a_k)|$  over all systems of  $j$  non-overlapping intervals  $(a_k, b_k)$ ,  $k = 1, 2, 3, \dots, j$  contained in  $Y$ . In particular, if  $j = 0$  we have  $v_0(g, Y) = 0$ , the sequence  $\{v_j(g, Y)\}_{j=0}^{\infty}$  is called the modulus of variation we refer to the readers [3].

**2. Basic Results**

In this section we give certain results which are necessary to prove the main result.

Recently Zeng [9] estimated the exact bounds for Bernstein basis functions and Meyer Konig Zeller basis functions. For  $k \in \mathbb{N}$  and  $t \in (0, 1]$ , the author of [9] obtained the inequality

$$\binom{n+k-1}{k} t^k (1-t)^n < \frac{1}{\sqrt{2e}} \frac{1}{\sqrt{nt}}. \tag{3}$$

Replacing the variable  $t$  with  $\frac{x}{1+x}$  in eq. (3), we get the following result:

**Lemma 1** For all  $x \in (0, \infty)$  and  $k \in \mathbb{N}$ , we have

$$Q_{n,k}^{(\alpha)}(x) \leq \alpha \cdot p_{n,k}(x) < \frac{\alpha \sqrt{1+x}}{\sqrt{2e} \sqrt{nx}},$$

where the constant  $\frac{1}{\sqrt{2e}}$  is the best possible.

**Lemma 2** [5] Let the  $m^{\text{th}}$  order moment be defined by

$$B_{n,1}((t-x)^m, x) \equiv \mu_{n,m}(x) = \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} b_{n,k}(t) (t-x)^m dt$$

then, we have

$$\mu_{n,0}(x) = 1, \quad \mu_{n,1}(x) = \frac{1+x}{n-1},$$

and

$$(n - m - 1)\mu_{n,m+1}(x) = x(1 + x) \left\{ \mu_{n,m}^{(1)}(x) + 2m \mu_{n,m-1}(x) \right\} + \\ + \{(m + 1)(1 + 2x) - x\} \mu_{n,m}(x), \quad n > m + 1.$$

From the above recurrence relation, we have

$$\mu_{n,2}(x) = \frac{2(n + 1)x^2 + 2(n + 2)x + 2}{(n - 1)(n - 2)}.$$

**Remark 1** In particular, given any number  $\lambda > 2$  and  $x > 0$ , there is an integer  $N(\lambda, x) > 2$ , such that

$$\mu_{n,2}(x) = \frac{\lambda x(1 + x)}{n}.$$

Following along the lines of the proof of Lemma in [1] and in view of the inequality  $|a^\alpha - b^\alpha| \leq \alpha |a - b|$ ,  $0 \leq a, b \leq 1$ ;  $\alpha \geq 1$ , we can easily obtain the following lemma:

**Lemma 3** Let  $x \in (0, \infty)$ ,  $h \neq 0$  and  $f$  be a function of the class  $M_{loc}(I)$ . Put  $I_x(h) = [x + h, x] \cap I$  if  $h < 0$  and  $I_x(h) = [x, x + h]$  if  $h > 0$ . Then, for every  $n \geq 4$

$$\left| \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_{I_x(h)} g_x(t) b_{n,k}(t) dt \right| \leq \left( 1 + \frac{8n\alpha\mu_{n,2}(x)}{h^2} \right) \\ \times \left\{ \sum_{j=1}^{m-1} \frac{1}{j^3} v_j(g_x; I_x(\frac{jh}{\sqrt{n}})) + \frac{1}{m^2} v_j(g_x; I_x(h)) \right\},$$

where  $m = [\sqrt{n}]$  means the greatest integer not greater than  $\sqrt{n}$ .

### 3. Rate of Convergence

In this section we prove the following theorem.

**Theorem 3.1** Let  $f \in M_{loc}(I)$  and let there be a fixed point  $x \in (0, \infty)$ , the one sided limits  $f(x \pm)$  exist. Also,  $|f(t)| \leq M(1 + t)^\gamma$ ,  $t > 0$  with some  $M > 0$ ,  $\gamma \geq 0$  and choose

a number  $\lambda > 2$  and  $\alpha \geq 1$ . Then for  $n \geq \max\{4, \gamma + 1, N(\lambda, x)\}$ , we have

$$\begin{aligned} & \left| B_{n,\alpha}(f, x) - \left[ \frac{1}{\alpha+1}f(x_+) + \frac{\alpha}{\alpha+1}f(x_-) \right] \right| \\ & \leq |f(x_+) - f(x_-)| \frac{\alpha\sqrt{1+x}}{\sqrt{2enx}} + M_0 \frac{(1+x)^\gamma}{(nx^2)^\gamma} + M_1 \frac{(1+x)^{\gamma+1}}{nx} + \\ & + \left( 1 + \frac{8\alpha\lambda(1+x)}{x} \right) \left\{ \frac{\sum_{j=1}^{m-1} \frac{v_j(g_x; x - jx/\sqrt{n}, x) + v_j(g_x; x, x + jx/\sqrt{n})}{j^3} + \frac{v_m(g_x; 0, x) + v_m(g_x; x, 2x)}{m^3}}{m^3} \right\}, \end{aligned}$$

where  $M_0$  and  $M_1$  are certain constants depending on  $\alpha, \lambda$  and  $\gamma$ .

**Proof.** It is easily verified [8] that

$$\begin{aligned} & \left| B_{n,\alpha}(f, x) - \left[ \frac{1}{\alpha+1}f(x_+) + \frac{\alpha}{\alpha+1}f(x_-) \right] \right| \\ & \leq |B_{n,\alpha}(g_x, x)| + \frac{1}{2} |f(x_+) - f(x_-)| \left| B_{n,\alpha}(\text{sign}(t-x), x) + \frac{\alpha-1}{\alpha+1} \right|. \end{aligned} \tag{4}$$

In order to prove the theorem we need the estimate for  $B_{n,\alpha}(g_x, x)$  and  $B_{n,\alpha}(\text{sign}(t-x), x)$ . We first estimate  $B_{n,\alpha}(\text{sign}(t-x), x)$  as follows:

$$\begin{aligned} B_{n,\alpha}(\text{sign}(t-x), x) &= \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \left( \int_x^{\infty} b_{n,k}(t)dt - \int_0^x b_{n,k}(t)dt \right) \\ &= \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \left( \int_0^{\infty} b_{n,k}(t)dt - 2 \int_0^x b_{n,k}(t)dt \right) \\ &= 1 - 2 \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_0^x b_{n,k}(t)dt. \end{aligned}$$

Using the fact  $\int_x^\infty b_{n,k}(t)dt = \sum_{j=0}^k p_{n,j}(x)$ , we have

$$\begin{aligned} B_{n,\alpha}(\text{sign}(t-x), x) &= 1 - 2 \sum_{k=0}^\infty Q_{n,k}^{(\alpha)}(x) \left( 1 - \sum_{j=0}^k p_{n,j}(x) \right) \\ &= -1 + 2 \sum_{k=0}^\infty Q_{n,k}^{(\alpha)}(x) \sum_{j=0}^k p_{n,j}(x) \\ &= -1 + 2 \sum_{j=0}^\infty p_{n,j}(x) \sum_{k=j}^\infty Q_{n,k}^{(\alpha)}(x) = -1 + 2 \sum_{j=0}^\infty p_{n,j}(x) J_{n,j}^\alpha(x). \end{aligned}$$

Thus

$$B_{n,\alpha}(\text{sign}(t-x), x) + \frac{\alpha-1}{\alpha+1} = 2 \sum_{j=0}^\infty p_{n,j}(x) J_{n,j}^\alpha(x) - \frac{2}{\alpha+1} \sum_{j=0}^\infty Q_{n,k}^{(\alpha+1)}(x),$$

since  $\sum_{k=0}^\infty Q_{n,k}^{(\alpha)}(x) = 1$ . By the mean value theorem, we have

$$Q_{n,j}^{(\alpha+1)}(x) = J_{n,j}^{\alpha+1}(x) - J_{n,j+1}^{\alpha+1}(x) = (\alpha+1)p_{n,j}(x)\gamma_{n,j}^\alpha(x)$$

where  $J_{n,j}^\alpha(x) < \gamma_{n,j}^\alpha(x) < J_{n,j+1}^\alpha(x)$ . Therefore

$$\begin{aligned} \left| B_{n,\alpha}(\text{sign}(t-x), x) + \frac{\alpha-1}{\alpha+1} \right| &= 2 \sum_{j=0}^\infty p_{n,j}(x) (J_{n,j}^\alpha(x) - \gamma_{n,j}^\alpha(x)) \\ &\leq 2 \sum_{j=0}^\infty p_{n,j}(x) (J_{n,j}^\alpha(x) - J_{n,j+1}^\alpha(x)) \\ &\leq 2\alpha \sum_{j=0}^\infty p_{n,j}(x) (J_{n,j}(x) - J_{n,j+1}(x)) \\ &= 2\alpha \sum_{j=0}^\infty p_{n,j}^2(x). \end{aligned}$$

Applying Lemma 1, we have

$$\left| B_{n,\alpha}(\text{sign}(t-x), x) + \frac{\alpha-1}{\alpha+1} \right| < 2\alpha \frac{\sqrt{1+x}}{\sqrt{2enx}} \sum_{j=0}^{\infty} p_{n,j}(x) = \frac{\alpha\sqrt{2(1+x)}}{\sqrt{e}\sqrt{nx}}. \tag{5}$$

Next we estimate  $B_{n,\alpha}(g_x, x)$ , as follows:

$$\begin{aligned} B_{n,\alpha}(g_x, x) &= \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_0^x g_x(t) b_{n,k}(t) dt \\ &\quad + \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_x^{2x} g_x(t) b_{n,k}(t) dt + \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_{2x}^{\infty} g_x(t) b_{n,k}(t) dt \\ &= E_1(\alpha, n, x) + E_2(\alpha, n, x) + E_3(\alpha, n, x), \text{ say.} \end{aligned} \tag{6}$$

Using Lemma 3 (with  $h = -x$ ) and Lemma 2, we have

$$\begin{aligned} |E_1(\alpha, n, x)| &\leq \left\{ 1 + \frac{8\alpha\lambda(1+x)}{x} \right\} \\ &\quad \times \left\{ \sum_{j=1}^{m-1} \frac{1}{j^3} v_j(g_x; x, x + jx/\sqrt{n}, x) + \frac{1}{m^3} v_m(g_x; 0, x) \right\}, \end{aligned} \tag{7}$$

for all  $n \geq N(\lambda, x)$ . Also by Lemma 3 with  $h = x$  and Lemma 2, we get the corresponding estimate of  $E_2(\alpha, n, x)$  as follows:

$$\begin{aligned} |E_2(\alpha, n, x)| &\leq \left\{ 1 + \frac{8\alpha\lambda(1+x)}{x} \right\} \\ &\quad \times \left\{ \sum_{j=1}^{m-1} \frac{1}{j^3} v_j(g_x; x, x + jx/\sqrt{n}) + \frac{1}{m^3} v_m(g_x; x, 2x) \right\}. \end{aligned} \tag{8}$$

Finally for  $n > \gamma$ , we have

$$E_3(\alpha, n, x) \leq M \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_{2x}^{\infty} \{(1+t)^\gamma + (1+x)^\gamma\} b_{n,k}(t) dt.$$



Using the identity  $(1+t)^\gamma - (1+x)^\gamma \leq (2^\gamma - 1) \frac{(1+x)^\gamma}{x^\gamma} (t-x)^\gamma$ ,  $t \geq 2x$ , we have

$$|E_3(\alpha, n, x)| \leq M \sum_{k=0}^{\infty} Q_{n,k}^{(\alpha)}(x) \int_{2x}^{\infty} \left\{ (2^\gamma - 1) \frac{(1+x)^\gamma}{x^\gamma} (t-x)^\gamma + 2(1+x)^\gamma \right\} b_{n,k}(t) dt$$

$$\leq M(2^\gamma - 1) \alpha \frac{(1+x)^\gamma}{x^\gamma} \mu_{n,\gamma}(x) + 2M\alpha \frac{(1+x)^\alpha}{x^2} \mu_{n,2}(x).$$

Making use of Lemma 2, we get

$$|E_3(\alpha, n, x)| \leq M_0 \frac{(1+x)^\gamma}{(nx^2)^\gamma} + M_1 \frac{(1+x)^\gamma}{nx}, \tag{9}$$

where  $M_0, M_1$  are constants depending on  $\alpha, \lambda$  and  $\gamma$ .

Finally collecting the estimates of (4)-(9), we get the required result. This completes the proof of the theorem.

**Remark 2** *It is remarked here that on the similar lines we may introduce the Durrmeyer variant of similar operators. For example, Szasz Bezier operators introduced by Zeng [10], are defined by*

$$L_n(f, x) = \sum_{k=0}^{\infty} R_{n,k}^{(\alpha)}(x) f\left(\frac{k}{n}\right),$$

where  $R_{n,k}^{(\alpha)}(x) = \left( \sum_{j=k}^{\infty} q_{n,k}(x) \right)^\alpha - \left( \sum_{j=k+1}^{\infty} q_{n,k}(x) \right)^\alpha$ ,  $\alpha \geq 1$  and

$q_{n,k}(x) = e^{-nx} \frac{(nx)^k}{k!}$  is the Szasz basis function. Some basic properties of  $R_{n,k}^{(\alpha)}(x)$  can be found in [10].

We can define the Durrmeyer type modification of the operators  $L_n$  as

$$S_{n,\alpha}(f, x) = \sum_{k=0}^{\infty} R_{n,k}^{(\alpha)}(x) \int_0^{\infty} b_{n,k}(t) dt, \quad x \in [0, \infty), \tag{10}$$

where  $f \in L_1[0, \infty)$  and  $b_{n,k}(t)$  is defined as in eq.(1).

Actually the operators  $S_{n,\alpha}(f, x)$  defined above are hybrid Durrmeyer type Szasz-Bezier operators, as in this case we have taken the entirely different weight functions.

We may note here that the rates of convergence in terms of Chanturiya's modulus of variation for the operators  $S_{n,\alpha}(f, x)$  are not possible. The main problem is in the estimation of  $S_{n,\alpha}(\text{sign}(t-x), x)$ , because we can not relate easily the integration of Baskakov basis functions with the summation of Szasz basis function. The other approximation properties like direct, inverse and saturation results for the operators  $S_{n,1}(f, x)$  are easier, but the analogues results for the operators  $S_{n,\alpha}(f, x)$  (even for  $S_{n,1}(f, x)$ ) are still unresolved. This may be considered as an open problem to the readers.)

### Acknowledgment

The author is thankful to the referee for making valuable suggestions leading to the better presentation of the paper.

### References

- [1] G. Aniol and P. Pych Taberska, On the rate of pointwise convergence of the Durrmeyer type operators, *Approx.Theory and its Appl.* 11(2) (1995), 94-105.
- [2] P. N. Agrawal and K. J. Thamer, Linear combinations of Szasz-Baskakov type operators, *Demonstratio Math.* XXXII (3) (1999), 575-580.
- [3] Z. A. Chanturiya, Modulus of variation of functions and its application in the theory of Fourier series, *Dokl. Akad. Nauk SSSR* 214 (1974), 63-66.
- [4] Minakskhi Gaur and S. K. Sharma, On the rate of convergence in simultaneous approximation by linear combinations of modified Baskakov type operators, *Soochow J. Math.* 23 (1) (1997), 103-112
- [5] Vijay Gupta, Rate of convergence by Baskakov-Beta operators, *Mathematica* 37 (60) (1995), 109-117.
- [6] Vijay Gupta, A note on modified Baskakov type operators, *Approx. Theory and its Appl.* 10 (3) (1994), 74-78.
- [7] X. M. Zeng and Vijay Gupta, Rate of convergence by Baskakov-Bezier type operators for locally bounded functions, *Comput. Math. with Appl.* 44 (10-11) (2002), 1445-1453.

GUPTA

- [8] X. M. Zeng and W. Chen, On the rate of convergence of the generalized Durrmeyer type operators for functions of bounded variation, *J. Approx. Theory* 102 (2000), 1-12.
- [9] X. M. Zeng, Bounds for Bernstein basis functions and Meyer-König Zeller functions, *J. Math. Anal. Appl.* 219 (1998), 363-376.
- [10] X. M. Zeng, On the rate of convergence of the generalized Szász type operators for functions of bounded variation, *J. Math. Anal. Appl.* 226 (1998), 309-325.

Vijay GUPTA  
School of Applied Sciences,  
Netaji Subhas Institute of Technology,  
Azad Hind Fauz Marg, Sector 3 Dwarka  
New Delhi 110045, INDIA  
e-mail: vijay@nsit.ac.in

Received 08.04.2003